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[H3] [SOLVED} DI Table Chart Questions – 3: The following
table shows the percentage (%) distribution of six different
types of items A-F produced by a company in the years 2020
and 2021.
[H3] [SOLVED} DI Table Chart Questions – 2: These are the
marks scored by 4 students in 3 different subjects.
[H3] [SOLVED} DI Pie Chart Questions – 1: What is the
percentage of total students enrolled in Medical and
Engineering?
[H3] Using (x + a) (x + b) = x2 + (a + b) x + ab, find (i) 103 x
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[H3] Using identities, evaluate (i) 71² (ii) 99² (iii) 1022 (iv) 998²
(v) 5.2² (vi) 297 x 303 (vii) 78 x 82 (viii) 8.92 (ix) 10.5 x 9.5
[H3] In a medical transaction, 17 times the cost price is equal
to 8 times the sum of the cost price and the selling price. What
is the gain or loss percentage?
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10%, then the percentage increase in his income is:
[H3] If Meena gives an interest of ₹ 45 for one year at 9% rate
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[H3] The areas of three adjacent faces of a cuboidal solid block
of wax are 216 cm2, 96 cm2 and 144 cm2. It is melted and 8
cubes of the same size are formed from it. What is the lateral
surface area (in cm2) of 3 such cubes?
[H3] In ΔABC, AB = 20 cm, BC = 7 cm and CA = 15 cm. Side BC
is produced to D such that ΔDAB ∼ ΔDCA. DC is equal to:
[H3] P can finish a work in 18 days. When he had worked for 5
days, Q joined him. If both of them together completed the
remaining work in $\frac{13}{5}$ days, then in how many
days can Q alone finish 66$\frac{2}{3}$% of the same work?
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Schlecht, denn es wurden CSS-Angaben in HTML-Elementen
entdeckt. Diese Angaben sollten in ein entsprechendes CSS-
Stylesheet verlagert werden.

Nicht so gut, denn Ihre Webseite enthält sehr viele CSS-
Dateien (mehr als 4).

Nicht so gut, denn Ihre Webseite enthält viele Javascript-
Dateien (mehr als 6).

Gut! Sie nutzen die Vorteile von gzip.

Mobile

Mobile Optimierung
Apple Icon

META Viewport Tag

Flash Inhalt



Optimierung

XML-Sitemap Perfekt! Ihre Seite hat eine XML-Sitemap.

https://mathsgrow.com/sitemap_index.xml

Robots.txt http://mathsgrow.com/robots.txt

Sehr gut! Ihre Webseite enthält eine robots.txt-Datei.

Analytics Fehlt

Wir haben nicht ein Analyse-Tool auf dieser Website installiert zu
erkennen.

Webanalyse erlaubt die Quantifizierung der Besucherinteraktionen mit
Ihrer Seite. Insofern sollte zumindest ein Analysetool installiert werden.
Um die Befunde abzusichern, empfiehlt sich das parallele Verwenden
eines zweiten Tools.
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